
vr{ lzif{s g+= sfo{qmd ah]6 sfo{qmd ah]6 vr{ lzif{s g+=

22522 lzIff ;DalGw 300,000.00  /fli6|\o df=lj= kmQ]k'/sf] cw'/f] ejg lgdf{0f 300,000.00  31112

31159 ldng 6f]ndf ;f]nf/jQL h8fg 250,000.00  ;8s aQL 250,000.00  31159

22522 /f=lj=a}=cf=lj=anfb{x -lzIfs tna_ 170,000.00   
jnfb{x rf}s b]lv ho k|sfz bf;sf] 3/ x'Fb} pd]z ofbjsf] 

3/;Dd af6f] u|fe]n
170,000.00  31151

22311 sfof{no ;+rfng tyf Joj:yfkg 200,000.00  j8f sfof{no ejgdf j/08f lgdf{0f 200,000.00  31112

22522 ckfË    50,000.00 ckfËd}qL ;fdfu|L ljt/0f 50,000.00   22522

31171 sfof{no Joj:yfkg   200,000.00 ;fd'bflos ejgsf] sDkfp08df tf/ 3]/fj]/f tyf df6f] k'g]{ / 

af6f]df df6f] tyf u|fe]n ug]{
200,000.00  31159

22311 sfof{no ;+rfng   150,000.00 ;+lhj rf}w/Lsf] kf]v/L b]lv sDkgL 6f]nsf] d"naf6f]df df6f] 

e/L u|fe]n ug]{
 150,000.00 31151

22522 ckfËtf    50,000.00 ckfËd}qL cf}hf/ ;fdfu|L ljt/0f   50,000.00 22522

22522 sDKo'6/ tflnd ;+rfng    50,000.00 l;nfO s6fO tflnd ;+rfng -?= %),))).))_ df yk ePsf]  100,000.00 22522

22311 sfof{no ;+rfng 100,000.00  sfl~h xfp; lgdf{0f 100,000.00  31159

j8f g+= ^

j8f g+= &

j8f g+= *

rfn' cf=j= @)&%.&^ sf nflu :jLs[t lgDg sfo{qmdx? @)&%.!).@! sf] gu/ ;efaf6 ;+zf]wg ePsf] sfo{qmdx?

ljlgof]hg ePsf] sfo{qmd / ah]6 ;+zf]wg eO{ sfod ePsf] sfo{qmd / ah]6

j8f g+= !

j8f g+= %

j8f g+= $

j8f g+= @
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vr{ lzif{s g+= sfo{qmd ah]6 sfo{qmd ah]6 vr{ lzif{s g+=

ljlgof]hg ePsf] sfo{qmd / ah]6 ;+zf]wg eO{ sfod ePsf] sfo{qmd / ah]6

31151
Afns bf;sf] 3/b]lv aRrfnfn ofbjsf]] 

3/;Dd cw'/f] af6f] u|fe]n
100,000.00  dd{t ;Def/ -?= !,)),))).))_ df yk ePsf] 200,000.00  31171

22311 sfof{no ;+rfng tyf Joj:yfkg   200,000.00 j8f sfof{nosf] dflyNnf] tNnf lgdf{0f -?= %,)),))).))_ df 

yk ePsf]
700,000.00  31112

22522 ckfËtf tkm{   100,000.00 eujtL ckfË ;d'xsf] nflu b'w Joj:yfkg d]lzg vl/b  100,000.00 22522

s[lifdf s'nf] k}gL dd{t ;+ef/   50,000.00 31171

:jo+ ;xfotf s[lif ;xsf/L ;d'xnfO{ kz' ljsf; df;' pTkfbg 

;DjGwL tflnd
  50,000.00 22522

22522 lzIff   100,000.00 ljBfly{x?nfO{ kf]zfs ljt/0f  100,000.00 22522

sfof{no ejg tyf u|Lnx?df /Ë/f]ug   50,000.00 22231

vfg]kfgL 6\o'j]n vl/b   50,000.00 22522

dd{t ;+ef/ vr{   50,000.00 31171

31171 dw];L tkm{    50,000.00 /fhfhL lj;x/f dlGb/ dd{t   50,000.00 31171

31171 blnt    50,000.00 bul/g lbgfeb|L dlGb/ ddt{   50,000.00 31171

22711 ljljw 100,000.00  dd{t ;Def/ -?= @,)),))).))_ df yk ePsf] 300,000.00  31171

31112 j8f sfof{nosf] ejg lgdf{0f 900,000.00  sf}zn v8\ufsf] 3/ b]vL k'n;Dd gfnf lgdf{0f 900,000.00  31158

cf}Bf]lus 3/]n' s[lif aghGo tfnLd 800,000.00  22522

pBd ljsf; cled'lvs/0f tflnd 200,000.00  22522

j8f g+= (

22522 s[lif tyf kz' ljsf; sfo{qmd   100,000.00 

g=kf=tkm{sf]

cf}Bf]lus 3/]n' s[lif aghGo tfnLd 1,000,000.00 22522

22711 ljljw   150,000.00 

j8f g+= !!
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